
HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS

20 MIN

HARDWARE FOR WOODEN

A x 1 B x 1

STEP 1

No.

1

2

Q.tyHardware

8Bolt M8x60

8

3 2

6 4

12 1Key K4

C x 2

Page 01/07

D x 2 E x 1 F x 2 G x 1

IL x 1

7

9

Bolt M8x45

Bolt M8x30

16Bolt M6x205

Hexagonal nut M8

Nut M8x15

Screw round head M4x25

C

CD

D

STEP A
STEP B

8

4

7 7

I

112

4 24Bolt M8x20

8 Washer 4

13 1Wrench

10 4

11 4

Pat 1

Pat 2

H x 1 IR x 1



STEP 2

STEP 3 Page 02/07

E

F

F

F

II

III

I

II

E

II

I

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS



STEP 4

STEP 5 Page 03/07

G

H

IV

V

IV

12

4

Turn over -> step 6

6

8

13

10

IR

IL

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS



STEP 6

Page 04/07

VI

12

2

D

V

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS



STEP 7

Page 05/07

VII

VI

III

Top Bot

12

3

12
12

12

4
5 511

11

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS



STEP 8

Page 06/07

VII

B

B

VII

9

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS



FINISHED

Page 07/07

HARU QUEEN BED
L2125 x W1640 x H923 mm 

ASSEMBLY INSTRUCTIONS


	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING




